W The Science of Physics

o What is the total amount of energy
needed to change the temperature of
0.20 kilogram of lead from 20°C to 30°C?
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The total effect of all the processes that
occur in the universe is an increase in

e The conductivity of a material is
equivalent to

In a nuclear reactor, which substance
can be used as both the moderator
and the coolant?
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B direction, only
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An phject'weighs 100 hewtons on Farth's
surface. When it is moved to a point one
Earth radius above Earth’s surface, it will
weigh

A 250N
B 500N
C 100N /
D 400N /
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